Chapter 02 - Cost Behavior, Operating Leverage, and Profitability Analysis

Exercise 2-1A  No check figure

Exercise 2-2A  No check figure

Exercise 2-3A  Fixed cost per unit assuming 5,000 units were produced : $57
Exercise 2-4A  Variable cost per unit: $14
Exercise 2-5A

a.
Utitlities cost per unit is $3.

Exercise 2-6A

a.
Total cost per unit assuming that Bradford produces 12,000 units: $12.00.

Exercise 2-7A

a.
Cost per unit assuming that 4,000 people attend the concert : $26.25.

Exercise 2-8A

a.
Total cost of shirts assuming that 3,000 people attend the concert : $27,000

Exercise 2-9A  No check figure

Exercise 2-10A  No check figure

Exercise 2-11A  Total salary cost for June: $8,750

Exercise 2-12A

a.
Net income:  $12,500

b.
Net loss:  $5,000

Exercise 2-13A

a.
Net income: $32,000

b.
Operating leverage: 6.25
Exercise 2-14A

a.
Operating leverage : 1.5
b.
Revised net income: $4,600

Exercise 2-15A  Price: $19

Exercise 2-16A  
a.
Fixed Cost: $240,000

Problem 2-17A  No check figure

Problem 2-18A

a.
Average rental cost per unit assuming that Kara cleans 20 houses: $45
b.
Total labor cost assuming that Kara cleans 20 houses: $1,200

c.
Total cost of supplies assuming that Kara cleans 30 houses: $150

d.
Total cost assuming that Kara cleans 30 houses: $2,850
Problem 2-19A

b.
Average teller cost per transaction at the level of 80,000 transactions: $1.20
c.
Total teller cost with 20 branches: $1,920,000

Problem 2-20A

a.
Average cost per unit at the sales volume of 200: $190
b.
Price per package at the sales volume of 200: $235
c.
Cost of booth rental for 5 trade shows: $40,000

Problem 2-21A 

Part 1:

b. 
Profit: $8,000

d. 
Profit: $6,800
Part 2:

g. 
Profit: $4,800

h. 
Profit: $5,280

Part 3:

k. 

Cost of workbooks per student assuming that 22 students attempt to register: $30.
Problem 2-22A

a. 

Net income of Diego University: $3,400

b. 
Net income: $4,200


c. 
Net loss: $400

e. 

Orlando’s net loss: $600

Problem 2-23A

a.
Wood’s operating leverage: 1.50
b.
Lake’s percentage of change: 45.16%

c.
Wood’s percentage of change: (18.06%)

Problem 2-24A

a.
Cost per unit for Monday: $4.40


Cost per unit for Saturday: $1.98
b.
Ticket price for Tuesday: $9.60


Ticket price for Sunday: $6.96
Problem 2-25A  No check figure

Problem 2-26A

a.
Revenue per hour for October: $50

b.
Fixed cost: $$1,540

c.
Contribution margin per hour: $27

Problem 2-27A

b (1)
Variable per cabinet: $5.00
b (4)   $24,500

Problem 2-28A  No check figure
Exercise 2-1B  No check figure

Exercise 2-2B  No check figure
Exercise 2-3B  Total fixed cost per unit if Keller produces 50,000 units: $18
Exercise 2-4B  Total variable manufacturing cost if Martinez produces 6,000 units: $48,000

Exercise 2-5B  January figures ​– Depreciation cost per unit: $5; Supplies cost per unit : $3
Exercise 2-6B  Total cost per chair if Wray Chairs sells 4,000 chairs: $25.00
Exercise 2-7B

a.  
Rental cost per custormer if the number of customer is 10 : $10.00

Exercise 2-8B

a. 
Total soft drink cost if the number of customer is 20 : $10
Exercise 2-9B  No check figure

Exercise 2-10B  No check figure

Exercise 2-11B  Total wages cost for Thursday: $110
Exercise 2-12B

a.
Spring’s net income: $8,000

b.
Summer’s net loss: $1,000
Exercise 2-13B

b.
Operating leverage: 24
Exercise 2-14B

a.
Operating leverage: 5
b.
Revised net income: $24,000

Exercise 2-15B  Price: $5.20

Exercise 2-16B  
a. 
Fixed cost: $22,000

Problem 2-17B  No check figure

Problem 2-18B  

a.
Average depreciation cost per lawn service if 25 lawn services are provided: $30

b.
Total labor cost if 30 lawn services are provided:$600

c.
Total cost of materials if 20 lawn services are provided: $200
e.  
Total cost per lawn service if 25 lawn services are provided: $60
Problem 2-19B

b.
Average payroll cost per tax return if 5,000 tax returns are prepared: $54
c.
Average payroll cost per branch if Cain and Ruff operates 40 branches: $10,800,000

Problem 2-20B

a.
Average cost per unit if Mr. McCoy sells 200 units: $157.50
b.
Price per package if Mr. McCoy sells 400 units: $168.75
Problem 2-21B 

c.
Profit: $14,500

d.
Profit: $10,500

h.
Profit: $13,750

i.
Profit: $11,250

k.
Cost per candidate if 55 candidates attempt to attend: $32
Problem 2-22B

b.
Net income of Heath: $5,200

c.:
Net loss of Keith: $800

e.
Net loss for Heath: $1,000
Problem 2-23B

b.
Percentage of change for Beck: 25%

c.
Percentage of change for Zeck: (50%)

Problem 2-24B

a.
Total cost per unit for Friday: $3.75
b.
Ticket price for Tuesday: $10.57
Problem 2-25B  No check figure

Problem 2-26B

a.
Average service revenue per hour: $100

b.
Estimated total fixed cost per month: $5,000

c.
Average contribution margin: $70 per hour

Problem 2-27B
b (1)
Variable cost: $5.00 per frame
Problem 2-28B  No check figure
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